Evaluate the view that an increase in direct income tax will lead to a more balanced budget 


An increase in the rate of direct income tax could be argued to be a positive or a negative policy that a government could take as part of their macroeconomic agenda to reduce the budget deficit. The Budget deficit is the difference between a government's total expenditure and their total revenue, and is the amount that they are in debt to the governments of other nations or the central bank. Direct income taxes are taxes that are paid directly to the government by consumers out of their income beyond a certain threshold, expressed as a percentage and paid before wages are transferred to workers. While a rise in the rate of income tax could lead to an increase in the government's tax revenues in the long-run, indirect tax revenues could mitigate these effects. Indirect taxes are charged on the sales of goods and services bought by consumers, and are examples of regressive taxation that affects the less well-off disproportionately more than those better-off in society due to their flat rate, which means all consumers pay the same amount on each item sold. 

An increase in the rate of direct income taxes will lead to an increase in the proportion of a consumer's income that is being used for taxation, as in Scotland, one earning £40,000 a year pays an extra £140 a year in taxation, as part of a progressive taxation system, where those who earn more pay proportionality higher rates than those earning less. Due to a higher proportion of a consumer's income being used for taxation payments to the government, their marginal propensity to consume, which is the percentage of income used for consumption, will decrease. Due to this, indirectly taxable goods and services that carry a 20% VAT charge will see a decrease in demand, but more specifically, it will be goods and services that are necessities, but that have a cheaper substitute, that will see a fall in consumer demand. This is because the proportion of a consumer's income will be smaller for spending on these goods and services, and if consumers switch to cheaper alternatives, then the VAT receipts collected by the government as a part of an indirect sales tax will decrease, and this is shown in figure 1 on the laffer curve. The diagram shows that as the percentage of income tax increases beyond T3, the curve dips to reach a reduced rate of tax revenue for the government to collect, as the offset caused by a reduction in demand for more expensive and hence higher VAT-carrying goods and services is larger than the increased direct tax revenues collected by the government. This laffer curve explanation is helped by the fact that although someone earning £40,000 a year would pay just £140 extra in tax, the reduction in demand would be likely to outweigh that increase due to certain goods and services being substantially cheaper, and in the long-run, the reduction in direct sales tax revenues would be likely to be greater than the increase in direct income tax revenues, and hence increasing the rate of income tax would not be a wise fiscal policy decision for a government who wishes to reduce their budget deficit to make. Because the budget deficit is government revenue minus expenditure, the budget deficit would not be helped in this case, however it could be important to remember that certain goods and services could have an inelastic supply curve, such as goods and services carrying an excise duty such as fuel or tobacco products, which would have such a curve due to their essential nature for many consumers and little alternatives. In this case, government tax receipts from indirect sales taxes would not decrease, and instead consumers marginal propensity to save would instead be impacted, which would lead to the burden of a personal direct income tax rise being burdened on the consumer rather than the wider economy and hence the government itself through fewer indirect sales tax receipts, or ones that carry less value. 

An increase in the rate of income tax could however be a positive fiscal policy in terms of reducing the budget deficit, as it could increase consumption through the redistribution of wealth to those at the lower end of the income bracket who have a higher propensity to consume. By taxing those earning over £33,000 at a higher rate of tax, and hence implementing a more progressive rate of taxation that ensures higher earners contribute a higher percentage of their incomes towards the government's tax revenues than lesser earners, ther government will be acting to reduce the level of inequality through wealth redistribution. Wealth redistribution is a major fiscal policy that sees the government taxing those better off to give to those earning less to bridge the gap between rich and poor in a socio-economic context. Fiscal policy is the government using its spending powers to influence spending patterns, economic growth and employment in an economy. The scottish government's proposal to increase taxation by £1774 for earners earning £150,000 a year will see those earners paying an extra 1.18% on their incomes to pay for a 3% income on those earning sub-£30,00 a year. These earners have a higher marginal propensity to consume rather than save, meaning that they will spend a higher percentage of their income on goods and services in relation to higher earners. Therefore, they will be contributing to an increase in aggregate demand due to their higher propensity to consume that is increased by a pay rise, shown by a shift of the AD curve from AD1 to AD2 on figure 2. This increase in aggregate demand will lead to a shift to the right on the Aggregate supply curve, due to a greater incentive for firms to supply goods and services to match the higher prices caused by the increase in demand. Furthermore, the increase in tax is proposed to be spent on “superfast fibre optic broadband for all premises in Scotland by 2021.” This will lead to an increase in productivity, due to it allowing consumers the opportunity to work faster and more efficiently to get tasks done, increasing productivity to potentially outweigh the “forecasted 4.6% fall in productivity per hour by 2022”. Therefore, by redistributing the wealth of a nation through tax increases, the government is using its fiscal policy powers to combat the issue of a growing budget deficit. The budget deficit will be reduced this way through the increase in goods and services being sold that carry a VAT or excise duty charge, that will increase the government's tax revenues, but it also could be implicated due a rise in the demand for goods and services leading to more profits being produced by businesses, that will pay corporation tax at an unchanged rate to further contribute to an increase in government tax revenuers. Corporation tax is a direct tax paid on the profits made by a firm to the government. With all this being said, it is possible that these consumers who are better off from a tax rise will find themselves saving their money, and as saving is not a component of aggregate demand (C+I+G+(X-M)), it won't increase and therefore the redistribution of wealth could fail to inject extra revenue into the economy and therefore there will be little impact made to the budget deficit due to less tax being paid on business profits. 

A rise in income taxes could lead to a fall in government tax revenues, especially as consumption is the most important component of aggregate demand, and if this falls ,either in terms of volume or value of goods being sold in an economy, then a rise in income tax rates will not help the government to reduce its budget deficit as indirect sales taxes won't be increased. However, it is important to consider that a fiscal policy centering around the  redistribution of wealth could potentially lead to an increase in the incomes of those with the highest marginal propensity to consume, and therefore their increase in consumption will lead to an increase in business profits due to a greater incentive to supply, which will lead to the budget deficit being reduced so as long as these consumers don't save their money and hence not contribute to aggregate demand, meaning that the policy would be ineffective. Despite this fear, this policy objective would be likely to lead to an increase in consumption of goods and services, contributing to an increase in indirect sales tax revenues, as well as direct corporation tax revenues. 


